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17 MWhat is Lanthanoid Contraction? Write One consequence
of this.

9
(513

-

/ 1o ; -

TS PO T ¢ Ba14 B bty vl |

12, A5gm ethylene glycol is mixed with 600 gm water. Find the
Freezing pointof the solution,
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The rate constant of a first order reaction is 5.5x10S™.

Calculate the half-life period. 2
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17,/ Arrange the following sets of compounds in order of
increasing boiling points - ®

() Pentane- 1-ol, butane -1-0l, butane -2 - ol, ethanol, propan
- 1- ol, methanal. %

(b) Pentane-1-6l,n- butane, penznal, ethoxyethane.
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18. isglycosidic Iinkage? Which disaccharide is known as
milk sugar? 1+
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What is peptide linkage? Give one example. 1+1=2
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19. tis Osmotic Pressure?
Determine the osmotic pressure of a solution prepared by

dissolving 25 mg of K_SO, in 2L of water at 25°C. assuming
that K80, is completely dissociated? 14263
¥ \6") AR b1 2 259C Bawotw 21 #I1® 25 mg of K,SO0;
¢%E@§®WWWBMWE?,@@WW

'

\‘4“’*\0 RK,S0, W"l‘f@i facaféns tar)

upret k0,082 1K298

e I ¥4 Y243
“{yp082] -
- 9 X 2.5 Fo xag;, 246 ¥(° g



20,/ Show that integrated rate equation for first order reaction
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Show that for first order reaction half life of reaction is
b L:q> independent of initial concentraction of reactants. 3 P
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2%@&11: are alloys? Name an important alloy which contains y

” some of the lanthanoid metals. Mention its uses. 1+1+1=3 :
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Explain the following- _ 1H141=3

(2) Cr*isstronglyreducing while Mn™ is strongly oxidising.
(2) Cr*fwies o Mn* O & | |
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(c) Intheseries SctoZn, the enthalpy of atomisation of Zinc is

the lowest. ‘
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(a) Theboiling point of ethanol is higher than methoxy methane- ‘
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Give s1mple chemical test to distinguish between- 1+1+1=3
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Write the chemical reactions of the following --  1+1+1=3 y A9
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How are Vitamins classified? Name the Vitamin defficiency

of which cause Scurvey. 2+1=3
ORI MR (T Rstem 74t 20 » B OB oo
= @tz

/ aromatic compomdAonueannentmmaquous ammonia
and

heating, forms compound B which ound B which onheating with Br ﬁ
and KOH fonnsaoompodeofmolecu]arfonmﬂaC & |
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28. @ Whatismolar conductance? .
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(). How does molar conductance varies with concentration

for strong and weak electrolyte?
sﬁmﬂﬁa@mmm@aﬁmﬁmﬁwmé
sifRaiRel (@FEWE RS =W 2 (O\;\ ‘o

(i) Draw a graph to show variation of J p, with Q% O\\Q
concentration for strong electrolyte like KCI.
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How many types of Battery are there and whatare they?

A solution of CuSO, is electrolysed for 10 minutes witha
current of 1.5 amperes. What s the mass of copper deposited
at the cathode? 2+3=5
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29. (a) Write short notes on - i 242+1=5
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() Sandmeyer reaction,
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@@ Hofliman bromamide degradation reaction,
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() Why cannot aromatic primary amines b prepared by
Gabril phthalimide synthesis?
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@L Draw a figure to show the splitting of d orbitals in an
Octahedral crystal field.
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